



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{3}\right) - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{2}{5}\right) = \left(-\frac{1}{10}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{2}{5} = \frac{11}{40}$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{3}{5}\right) = \frac{83}{125}$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{187}{320}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{5} = \left(-\frac{13}{40}\right)$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) = (-1)$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{7}{10}\right)$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{3}{10}\right)$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{1}{25}\right)$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{6}\right) = \frac{1}{3}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{73}{216}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{5} = \left(-\frac{31}{180}\right)$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{5}\right) = \frac{7}{10}$$

$$\left(\frac{1}{3}\right) - \frac{1}{4} = \frac{1}{12}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{5}{24}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \frac{3}{5} = \left(-\frac{197}{320}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{2} = \left(-\frac{7}{50}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{4}{25}\right)$$